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Crocus Shawlette 

 

Material :  

Needles 4.5mm, 

Wool Mérina color « mauve » (n°41) 4 balls . 

Cable needle 

A compter of rows 

Points and abbreviations : 

sl : slip 

k : knit 

p : purl 

K2tog : knit 2 together 

K3tog: knit 3 together. 

Yo : Yarn Over 

M :  Stitche Marker. 

Inc1 :.knit into the front and back of the next stitche. 

Dec1 : K2tog 

SSK : slip, slip , knit : slip next 2 stitches knitwise, one at the time, to right- hand 

needle. Insert tip of left-hand needle in fronts of these stitches from left to right. Knit 

them together. 

Bind off (row 6): bind off 4 stitches (purl), on the wrong side. 

Twist :3/2LKC : slip 3 to cable needle and hold to front, knit 2, knit 3 from cable 

needle. 

X: It X represents certain number of stitch, according to the advance of the work. 

I specify the number of stitches only punctually not to block pointlessly the model. 
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Work: 

Cast on 18 stitches. 

Knit a first row of garter stitch by placing markers as follows: 

k3 , M, k5, M, k10. 

Knit the next row (wrong side). 

Increasing part : 

Row 1 (right side): sl1, KX, Inc1, K1, M, k5 , M, SSK, Yo, k1, Yo, K2tog, (Yo, k1) 3 

times, Yo, k2. 

Rows 2 and 4(wrong side): PX and finish the row with K2. 

Row 3 (right side): sl1, KX, Inc1, K1, M, k5, M, SSK, Yo, k1, Yo, K2tog, Yo, k3, Yo, 

K1, Yo, k3, Yo, K2. 

Row 5 (right side) : sl, kX, Inc1, k1, M, Twist, M, SSK, Yo, k1, Yo, K2tog, Yo, sl2, 

K3tog and bind off the 2 slip stitches on this one, Yo, k1, Yo, sl2,K3tog and bind off 

the 2 slip stitches on this one, Yo, k2. 

Row 6 (wrong side): cast off 4 stitches (purl them), PX and finish the row with K2. 

Repeat these 6 rows 15 times, you will have 63 stitches. 

Then : 

Row 1 (right side): sl1, KX, M, k5 , M, SSK, Yo, k1, Yo, K2tog, (Yo, k1) 3 times, Yo, 

k2. 

Rows 2 and 4(wrong side): PX and finish the row with K2. 

Row 3 (right side): sl1, KX, Inc1, K1, M, k5, M, SSK, Yo, k1, Yo, K2tog, Yo, k3, Yo, 

K1, Yo, k3, Yo, K2. 

Row 5 (right side) : sl, kX, M, Twist, M, SSK, Yo, k1, Yo, K2tog, Yo,  sl2, K3tog and 

bind off the 2 slip stitches on this one, Yo, k1, Yo, K3tog and bind off the 2 slip 

stitches on this one, Yo, k2. 

Row 6 (wrong side): cast off 4 stitches (purl them), PX and finish the row with K2. 

Repeat these 6 rows 5 times, you will have 68 stitches. 

 

Strait part : 

Row 1 (right side): sl1, KX, M, k5 , M, SSK, Yo, k1, Yo, K2tog, (Yo, k1) 3 times, Yo, 

k2. 
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Rows 2 and 4(wrong side): PX and finish the row with K2. 

Row 3 (right side): sl1, KX, M, k5, M, SSK, Yo, k1, Yo, K2tog, Yo, k3, Yo, K1, Yo, k3, 

Yo, K2. 

Row 5 (right side) : sl, kX, M, Twist, M, SSK, Yo, k1, Yo, K2tog, Yo,  sl2, K3tog and 

bind off the 2 slip stitches on this one, Yo, k1, Yo, K3tog and bind off the 2 slip 

stitches on this one, Yo, k2. 

Row 6 (wrong side): cast off 4 stitches (purl them), PX and finish the row with K2. 

Repeat these 6 rows 12 times. 

 

Decreasing part : 

Row 1 (right side): sl1, KX, M, k5 , M, SSK, Yo, k1, Yo, K2tog, (Yo, k1) 3 times, Yo, 

k2. 

Rows 2 and 4(wrong side): PX and finish the row with K2. 

Row 3 (right side): sl1, KX, Dec1, K1, M, k5, M, SSK, Yo, k1, Yo, K2tog, Yo, k3, Yo, 

K1, Yo, k3, Yo, K2. 

Row 5 (right side) : sl, kX, M, Twist, M, SSK, Yo, k1, Yo, K2tog, Yo,  sl2, K3tog and 

bind off the 2 slip stitches on this one, Yo, k1, Yo, K3tog and bind off the 2 slip 

stitches on this one, Yo, k2. 

Row 6 (wrong side): cast off 4 stitches (purl them), PX and finish the row with 

K2.Repeat these 6 rows 5 times, you will have 63 stitches. 

Then : 

Row 1 (right side): sl1, KX, Dec1, K1, M, k5 , M, SSK, Yo, k1, Yo, K2tog, (Yo, k1) 3 

times, Yo, k2. 

Rows 2 and 4(wrong side): PX and finish the row with K2. 

Row 3 (right side): sl1, KX, Dec1, K1, M, k5, M, SSK, Yo, k1, Yo, K2tog, Yo, k3, Yo, 

K1, Yo, k3, Yo, K2. 

Row 5 (right side) : sl, kX, Dec1, k1, M, Twist, M, SSK, Yo, k1, Yo, K2tog, Yo,  sl2, 

K3tog and bind off the 2 slip stitches on this one, Yo, k1, Yo, K3tog and bind off the 2 

slip stitches on this one, Yo, k2. 

Row 6 (wrong side): cast off 4 stitches (purl them), PX and finish the row with K2. 

Repeat these 6 rows 15 times, you will have 18 stitches.Do 2 rows of garter stitch 

and bind off. 

Fasten off, block the shawlette and cut the threads, it’s done  


